MATH

MONKS

FINDING TRIGONOMETRIC RATIOS

Find each of the following trigonometric ratio for the given right triangles

B (@) sin A = d) tan B =
13

5 b) cos A = (€] tan A =

s 12 A (c] cos B = (f) sinB =

) @ sinP = [d sin N =

15
9 B) cos N = (e) cos P =
P 1 M c] tan N = (f) tan P =

Find the value of each trigonometric ratio to the nearest ten-thousandth

A 29 C A 50
21 20 40 30
B B
tan C = tan C =
A 50
37
12 30 40
B 35 C Y
tan C = sin Z =
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Answers
B (a] sin A = % d] tan B = %
13 [ 12 | 5
5 B cos A=| 33 e tanA=| 35
s 12 A cosB=% (f) sinB = %
. [@ sinP= % d) sin N = %
/9 @cosN=% (e) cos P = %
_| 12 | 2
P " M (c) tan N = 9 (f) tan P = 17
A 29 & " 50 &
21 20 40 30
B B
tan C =1.0500 tan C =1.3333
A X 50 7
37
12 \ 30 40
B 35 C Y
tan C =0.3428 sin Z =0.6000




